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UPSC 2014

1.99 & §9lc & Tegdl H Heafai@d & & ia-ard IR-BSr o399 & 37
3T /31 §?

(1). 38T =g

(2). TSl 3

(3). ad=T TF 9T

(4). 39ET

ARy fQU 91T e HT gANT X TS IR gAT|

A. Fad 1
B. ohdel 2 3R 3
C.1,2,33R4
D. #18 =gr

Answer ||| C

Solution ||| Non-plan revenue expenditure in Union Budget account for by
interest payments, subsidies on food and fertilizers, wage and salary
payments to government employees, grants to States and Union
Territories, pensions, economic services, tax collection etc. Since all 4 are
correct, so option C is correct.

2.fAFfAd # @ HA-A1 Galoa ‘Tos ShIelAT MScoldh AHS FehIIeT FehlTRIcl
AT §7?

A. 3TARTSERT HeT Iy

B. &g US¢ e Risha
C. faeg 3nfds wrRa

D. faeg d&

Answer ||| A

Solution ||| World Economic Outlook database has selected
macroeconomic data series from statistical appendix of World Economic
Outlook report published by International Monetary Fund, so option A is
correct.
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3.1 3curel & fAfAAT F 3¢ @R GgFd gl dTd $ TH—TAS deal
& Al-H0IT & R H edr gl F1?

(1). & qATaRor # G g Hehdd & AT ST 3R FaT & FGNA H Fohod g
(2). 3 Teg Y@t # gfase g dad

(3). @ HFA FAhI & 3cdiead H FART & dhd gl

ARy fQU 91T e T JANT X T 3R giAT|

A. Faer 1 3k 2
B. &ad 3

C. $aa 1 3k 3
D. 1,233

Answer ||| D

Solution ||| Nanoparticles are microscopic particles used in biomedical,
optical and electronics field which gets accumulated in environment and
contaminate water and soil. They also enters in food chains and can
trigger production of free radicals.

4 farafaf@d goAr R TR fifsw:
CEAIEC SHET EAaT & Bl arelm T

(1). |faerfaa ¢ | wdf

(2). |ferfaa D | fghew

(3). |feafaa E | ofy sfemr
3UFT A § l-T/d TEr gATAT 8782

A. haer 1 3w 2
B. ol 3
C.1,23R3

D. FIg et

Answer ||| A


http://www.gradeup.com/

e

www.gradeup.co gradeup

Solution ||| Statement 1 is correct as Scurvy is a disease resulting from a
deficiency of vitamin C. Statement 2 is also correct as Rickets is a bone
disorder caused by deficiency of vitamin D. Statement 3 is incorrect as
Night blindness is the common and earliest symptom of vitamin A
deficiency and not E. Since both 1 and 2 are correct so option A is correct.

5.fFff@d sy« W TR fifaT:

(1). RCAT U FHoAT0T SIS, JATAROT (FXET0T) HfAfATH, 1986 & 3refieT T
gl

(2). TSET §T9 TIETOT YITeuT Ush \ifafde AT g

(3). TSET I FAGT GIOfT IITHIOT I ITETETAT TUTHTHAT Fd g

39GFd FUA H F RlA-TVA Tel 8/6?

A. Fad 1

B. ohdel 2 3R 3
C. Fdd 2

D. 1,233

Answer ||| B

Solution ||| Statement 1 is incorrect as Animal Welfare Board of India was
established in 1960 under The Prevention of Cruelty to Animals Act and
not under the Environment (Protection) Act, 1986. Statement 2 is correct
as National Tiger Conservation Authority is a statutory body of Ministry
that perform functions as provided in Wildlife (Protection) Act, 1972.
Statement 3 is correct as National Ganga River Basin Authority is
planning, implementing, monitoring authority for Ganges River,
established by Central Government of India, under Section 3(3) of
Environment Protection Act and is chaired by Prime Minister. Option B is
correct as only statements 2 and 3 are correct.

6. UTRIEATIH-HAET &3’ & Feedl & F=faf@a & T FlF-a/d FuT Tar 877
(1). aRFEufaew-gadr &7 3 a7 §, e a=goia (Txeton) 3y, 1972 F
e e fomar I &

(2). uIRTEAfF-FaE &7 & Oi¥T A &1 FAIST 8, 37 &1 H hdel FW &l
BIshy T AT fhansit ) gfdssyr Jem=r|

A feT T FHe HT GANT H HE 3N I
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A. Fae 1

B. %adl 2

C. 1 3R 2 a=r
D.adr13iRkagr2

Answer ||| D

Solution ||| Eco-sensitive zones was launched by Ministry of Environment
and Forests around Protected Areas in order to save ecological damage
which appears due to developmental activities around National Parks and
Wildlife Sanctuaries. The idea behind this is to create buffer zone, where
activities are performed to save demarcated areas. Statement 1 is
incorrect as Eco-Sensitive Zones are areas which are not declared under
Wildlife (Protection) Act, 1972. Statement 2 is also incorrect as the idea of
declaration of Eco-Sensitive Zones is to stop all kinds of activities
prevailing in demarcated land, so option D is correct.

7.4 Y Wie g 9INoT FRET & Heedl H fAffiee hael i ‘e gfaeurdst
& HY Fo F HATST & WieT Icdiesd d&al Fl UIed I H Heg fHed! g
fohed] 58 3MeTThd a3/fAEdd FRilcadsl H 41 SEAAT G/aETdV g2

(1). s o Todr st Af A€ &= g

(2). S & &1 e Feafaat $r, 3eAH-HT Gl H quoT AN IR
GiesTal & IOTAT arel diGit T it 7 HIS HGATRIAT w761 B

(3). AT FeT Td 3= IRATT drell BHA & AHT H JUIAT dlel At & TR A
AlT-gft 3eereT &

A feT aTT FHe H TANT F FE IR gEAT|

A.13R2
B. ol 3
C.23R3

D. FIg et

Answer ||| B

Solution ||| National Seed policy begins in year 2002, so statement 1 is
not valid, which eliminates option A. Public sector produces 51% of seed
production in bulk quantities at low cost while Private sector produces
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seeds with less volume and more price, so statement 2 is not valid, which
eliminates option A and C. Since the involvement of both Public and
private sectors in seed production, there exits gap in demand and supply,
as marginal farmers with maximum land buys cheaper seeds from
unorganized sector, which makes option B correct as statement 3 is valid
since their existing demand supply gap of quality of seed at less price
with more production.

8.%gqX Heh{l I SHTCAWNAT FIT AUT?

A. ToT 9RaR & sEaATT & foav AfTee

B. 31heR &I foAoll 9T et

C. 3¢ Haa oa# affies gt & et & ary AFeR Tdr HIar a1

D. ag % fowe fafdest 4t arel Folla-oiet enfdie arell & Ry s ga 3

Answer ||| C

Solution ||| The Ibadat Khana at Fatehpur Sikri was the hall where Akbar
used to discuss with scholars of different religions. This was initially built
for the purpose of debating among Sunni Muslims for the purpose of
insignificant argument, hence option C is correct. Option A and B are
incorrect as Ibadat Khana does not refer to place for prayers, nor was a
confidential place of Akbar.

9. HERIAT TaereIRAT & 3EIYUT (1858) &I 366 FAT AUT?

(1). SR =3t & 9feer aereT & Fas & fFar off fJar &1 aRcamr
T

(2). IRAT 9emE=T #r fSfeer w3 & 3eddid 1@l

(3). ART & TIY ST 33AT FFYAT & AR T HIHA T

ARy fQU 91T e @1 JIANT F FE 3R giAT|

A. Fhaer 1 31k 2
B. el 2

C. %der 1 3R 3
D.1,2 3R 3
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Answer ||| A

Solution ||| On 1st Nov 1858, Lord Canning sent forth royal proclamation
in Allahabad that declare that the queen assumed government of India for
future policy of British Rule in India. Queen Victoria declares that
afterward India will rule in the name of British Monarch by Secretary of
State. This description suggests that Queen Victoria’s Proclamation
concerns is to reject any intention to annex Indian States and to keep
Indian administration under British Crown, which suggests that option A is
correct as both statements 1 and 2 satisfies.

10.7MAIAR & ATH T SATAT SITeT dTell e ahr AT

A. GEfat #Rd # 39l A Fer3it & fov faeaa

B. 9RRTAR IRd H AU Tld WRERT & fow aeara §
C. cfeolt IR & 3uar T I T & fov fawaa &
D. AT ¥Rd H ITdhRI WFRT & folv TEard g

Answer ||| B

Solution ||| Manganiyars are hereditary professional musicians belongs to
Muslim communities which are famous for classical folk music from
Barmer and Jaisalmer in Rajasthan, which is North-West of India, so
option B is correct.

11.fAfaf@ad ¥« W TR e
(1). ‘SIS Hol aIg EATel & 3UGRAT T Teh Hehelol o
(2). S AW & g @l Jearad o giaaried fear|
3UYFd HYAl A @ FIA-AVA T ¢/e?

A. &haedl 1

B. hadl 2

C. 1 3R 2 =t
D.aar13iRkagr2

Answer ||| D
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Solution ||| Bijak refers to document having sacred tests which was
composed by Saint kabir carrying holy sculpture for followers of
Kabirpanthi religion. This description shows that statement 1 is incorrect
as Bijak is not related to teachings of Saint Dadu Dayal but related to
teachings of Saint kabir. Philosophy of Pushti marg or path of grace was
propounded by Vallabhacharya and not Madhvacharya, hence statement 2
is also incorrect. Since both statements 1 and 2 are incorrect, so option D
is correct.

12.9Rd A slgy sfagd, W 3R T&pfd & Foeey A Aefafad vt
faar fIfaw
T dreieere HaEATA

(1). et 7o AR Afcar doer | T ol

(2). | vgrcaa wr@ier afegy, #@1 | siEaR @l
(3). | sreedt AfeeR Faper ELTALE]

3UgFd JEAT H F FiT-A07 T gAfT §/8?

A. Fae 1

B. %had 2 3R 3
C. %der 1 31X 3
D.1,23k3

Answer ||| C

Solution ||| Tabo monastery and temple is a complex located in Tago
village of Spiti valley in state of Himachal Pradesh, so statement 1 is
correct. Lhotsava Lhakhang temple is situated in Nako village in Kinnaur
district of Himachal Pradesh and not in Zanskar Valley, so this statement
is incorrect. Alchi Temple complex is located in Alchi village of Ladakh, so
this statement is correct. Since both statements 1 and 3 are correct, so
option C is correct.
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{’1; —— - AR HITST:

(2). | Aifeefarees | sifean

(3). | =werem=r heAleh

3UgFd JeAT H F FiT-A04 T gAfeT 82

A. Fad 1

B. ohdel 2 3R 3
C. daal 1 3k 3
D. 1,233

Answer ||| C

Solution ||| Garba, is a popular folk dance of Gujarat which is normally
performed by ladies on navratri days, so this statement is correct.
Mohiniattam dance from Kerala begins in 16th century CE which is Indian
classical form of dance, so this statement is not correct. Yakshagana is a
form of theatre dance having music with dialogues originates from state
of Karnataka, which is correct. Since only statements 1 and 3 are correct
while statement 2 is incorrect, so option C is correct.

14,91 & P Td TWFERT & Hogdl # FHoRIqIee 4T 572

A. Tg AaAd HT gl sifed g § S 3redr o gfator eIRa & Fo el A
yafad &

B. I8 A 3R Ndd & F1H T Tk YT delr & 3 303 o FRIFvsT &7 &
cieol feq & uig ST §

C. Ig S[cg-ATCH HT Th YKol T & R ATGER F 308 fGEq A v Slaed
qUFRT B

D. I8 Teh Ureiel Aol dhell § 3R 0T R & $o fEat # shaed weEwT §

Answer ||| D

Solution ||| As per Indian culture, Kalaripayattu serves as ancient martial
art which also highlights certain living tradition of people from South
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India. It comprises of kicks, grappling preset forms, weaponry and
healing methods, so option D is correct.

15.91¢T &1 Ur?

A. HIRATAT FT T HifeddRl T, TGS TUTH FEATT ol WITATDT H AT

B. Teh JSgaley e+, St AT & dnferd gier o

C. Teh 3IAET e, forger T AT dfeled 3 2T

D. iR T T & AT Toh hegiaiee 3Mealele, oIl Tl SHdTeld drRhee
Hoar

Answer ||| A

Solution ||| In 1913, Ghadar Party was formed at United states with their
headquarters in San Francisco. It consisted primarily of immigrant
Punjabis fro British India.

16. 4R T Holl g I & 36 & Foaed H Frfafld I7aA W faar
FIfaT;

Taeard #fdied e
(1). | geer & mgmRfEdior & v scg gfgar FEd | seiear
FIL I AT HoADl gdl Helld«l qdr =Ard &7 AT
Sefch gEl HAMT gaiw A

(2). | geat 93 3ol fasor & aug aaw & Tene | A g
uftAT fSad g &dt gedi &t @1gd faefser Jer
¥ Fand guie v &

(3). | farermer sitomesAt o Sehrol "I # AHCAH

3UYFd FIAT H F HlT-T1/A T AT g/8?

A. Fhaer 1 31k 2
B. %hdd 3

C. %der 1 3iR 3
D.1,2 3R 3
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Answer ||| C

Solution ||| Ajanta caves are the rock which is cut just like panoramic
horse shoe shaped that carries Chaitya halls or shrives and monasteries.
Out of these caves, the 26th cave has huge image of Buddha
Mahaparinirvana. It is noted that there are many temples to Varaha
Avatar of Vishnu, out of which the famous is Varaha Lakshmi temple
which is in Andhra Pradesh. The oldest Varaha temple in located in
Hampi, so point 2 is incorrect. Point 3 is correct as Mahabalipuram or
Mamallapuram is a place where descent of Ganges, Arjun Penance
portrayed in made of stone and is present in Pallava heritage site.

17.21% Tad W ITUIRT TSET 90T (Fhelesx) H 1 9, BRIRTT Felesy W
MR 365 a1 & @AY a¥ & Fefafed fafat & @ gt & deqey
g?

A. 22 AT (3¥ar 21 A®)
B. 15 #S (37¥ar 16 #A3)

C. 31 AT (37¥ar 30 A
D. 21 319 (37¥ar 20 319d)

Answer ||| A

Solution ||| The Saka Era national calendar having Chaitra as first month
and year with 365 days was taken into consideration with Gregorian
calendar for Gazette of India, Broadcasting of News by All India Radio and
for calendars from Government of India. It is noted that dates of national
calendar correspondences to dates of Gregorian calendar where 1 Chaitra
which falls on 22 March and other on 21 March in leap year, so option A is
correct.

18.7Eard ¥ Jc7 F Feedt 7 Fmfaf@a Fuet ® fFar fifaw

(1). @&, G, e T AR HT FIEAHOT &

(2). TE 1WA & Isvral Hr ATl WAl Shded RERT §

(3). T8 Jordlier, R IR HARMES GanT I Hia-afidl & e @i o
drell WX MR g

3UYFA HYAl A @ FIA-AVA T ¢/e?
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A. Faa 1

B. shael 1 3R 2
C. %aer 2 3R 3
D. 1,233

Answer ||| B

Solution ||| Sattriya dance is among 8th classical dance forms of India
introduced in 15th century A.D by Vaishnava saint in Assam by
incorporating other elements from various treatises and folk dances. It
covers treasures of centuries old living tradition of Vaishnavites of Assam.
With this both statements 1 and 2 are correct as it is not only dance, but
has treatises with folk dance, so option B is correct. Option C is incorrect
as Sattriya dance is not based on classical Ragas and Talas.

19.¥qdAdT 3eglele & STagid H JRAT TSET HIAF Hr 1929 Fr 3ifa
SHTAIT Hgcaqul g, Fdifeh 38 fUaee #

A. FIIH & 36aT & dl W FE-ATHA T T &wor i 15
B. HIIH & &g & ¥ W qUT Taxlsl YIie ol Feliehed Tohar arm
C. 3T JHTclelsl P HFH FIHT

D. degal H M AF TFAeT H HNGRT kel a1 foTr form aran

Answer ||| B

Solution ||| In 1929, Lahore Session of Indian National Congress is
important in the history of Indian Freedom as members of INC passed the
resolution in which they declare Poorna Swaraj as their main goal, so
option B is correct. Option A is not correct as 1929 Session of Indian
National Congress is not related with accomplishment of Self-Government
as objective of Congress. Option C is not valid as 1929 Session of Indian
National Congress is not concern with Non-Cooperation Movement.

20.1905 #H @IS Folel GaRT fohdT AT ST HT [AHTSTA e dh FaAT IGT?

A. 9UH Tavageys o, fSE# 3Eel & AR At 1 3raegedr gsr AR
fasSTeT FATCT fohar =T


http://www.gradeup.com/

e

www.gradeup.co gradeup

B. §HAC Sisl UgH aRT ool # 1911 & QMM aXaR H dhotel o fATAIH Fr
ot fRa ST ah

C. HgIcAT Il aRT HYAT AIAAT AT Hlegleled IRFH Fod doh

D. ¥Rd & 1947 & gv fqetTete deh, qdt d9Tmel, @l aTfehedtsl &1 a7

Answer ||| B

Solution ||| Partition of Bengal was carried out by Lord Curzon in India.
By 1900, since the province becomes too large it becomes difficult to
manage with single administration so it was moved by British to break
spirit of Nationalism in Bengal. With the arrival of King George V in 1911,
the reversal of partition moved and transfer capital of British India to
Delhi. Statement B is correct as partition of Bengal by Lord Curzon in
1905 lasted till King George V to abolish Curzon’s Act at Royal Darbar in
Delhi in 1911 while all other options A, C and D are incorrect.

21.fAFfT & @ Fld-a1 TF IGR YT FT TL HA 87

A. SIcH-shEefRATS-gRar
B. e RIAS-seH-gRar
C. seH-gRe-FeeRas
D. ;eeRas-gRer-s/es

Answer ||| A

Solution ||| Statement 1 is correct as Diatoms are primary producers such
as algae which are eaten by Crustaceans that are small ocean organisms
while herrings is fish which eats crustaceans, so it is a correct food chain.
Statement 2 is incorrect as the correct sequence of food chain is Diatoms-
Crustaceans-Herrings and not Crustaceans-Diatoms-Herrings as
supported by statement (1). Statement 3 is incorrect as the correct
sequence of food chain from the options given is Diatoms-Crustaceans-
Herrings and not Diatoms-Herrings-Crustaceans as supported by
explanation in statement (1). Statement 4 is also incorrect as the correct
sequence of food chain from the options given is Diatoms-Crustaceans-
Herrings and not Crustaceans-Herrings-Diatoms as supported by
explanation in statement (1). Hence we see that the correct option is A.
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22,92l FTer & Headl H HAFIfAld Hyal W AR g

(1). I& UNEP dar UNESCO &7 39sh#0T gl

(2). TE THh ’ealad g, forgd gfasmh gfaay v [fRaa e, v gue & fov
fastelr 5o & 3

(3). IE Sarg UREceT IR gL I q2e A HEThdl & TR H SEwehl ol
arell ATegrele &l
39GFd FUA H F FlT-TVA AeT 8767

A. Faer 1 3R 3
B. &had 2

C. %der 2 3R 3
D. 1,233

Answer ||| C

Solution ||| Earth Hour is a worldwide movement related to organization
of planets which was organized by World Wide Fund for Nature; hence it
is not initiated by UNEP and UNESCO, so statement 1 is incorrect.
Statement 2 is correct as this event is held across the world once in an
year during end of March from 8:30 to 9:30 p.m. which encourages
individual, communities, households and businesses to turn off their non-
essential lights towards commitment to planet earth. Statement 3 is also
correct as this movement moves up alertness regarding the climate
change and initiate people to take steps to save planet. Since both
statements 2 and 3 are correct, so the correct option is C.

23.fA=ffl@d 3R RT ) foar fifaw:

(1). @leT Td $¥ g Uy ITdiieh HETEET & a9 F ecRIserT d@fer
(2). FEHAT HT THAT I g HIFd IS¢ AAAAT

(3). faeg faraa AfFaaT

3PFd H F HlA-T/A Si-fAfAUAT § Foaeer IWAT g 82

A. Fhaer 1 3R 2
B. el 2

C. %der 1 3iR 3
D.1,2 3R 3
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Answer ||| D

Solution ||| International Treaty on Plant Genetic Resources for Food and
Agriculture is a complete international agreement in accordance with
Convention on Biodiversity, so statement 1 is correct. United Nations
Convention to Combat Desertification, established in 1994 is an
international agreement which focus on land degradation and
desertification; hence it is related to biodiversity, so it is also correct.
World Heritage Convention concerns with protection of World Cultural and
Natural Heritage, hence it is also correct. Since all the three statements
are correct, so the correct option is D.

24 . FAFAfafEd Sis W faar i
USERT [HAE | AT FAT 5 5T &
(1). NH 4 Yrols I BeE
(2)-NH§ S 3R Fer
(3).NH 15 JgACHETG 3T Sreray

U HY HleT AT JIH / el &1 § FAlleT fovam g ?

A. Faer 1 3R 2
B. shadl 3
C.1,23R3
D. IS =Tl

Answer ||| D

Solution ||| National Highway 4 is major highway in Western and
Southern India which connects mainly Mumbai- Chennai segment on
which Hyderabad is not located, so it is incorrect. National Highway 15 is
another highway which connects Samakhiali in Gujarat with Pathankot in
Punjab and does not pass through Jodhpur, so it is also incorrect. National
Highway 6 runs through Gujarat, Maharashtra, Chhattisgarh, Odisha,
Jharkhand and West Bengal and passes through cities such as Surat,
Dhule, Jalgaon, Bhusaval, Akola, Amravati, Nagpur, Bhandara, Durg,
Raipur, Mahasamund, Sambalpur and Kolkata. So this highway does not
pass through Mumbai, hence it is incorrect. Since all the statements are
incorrect, so the correct option is D.
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25.8Rd & fArafaf@d Rt W R A

(1). sAgraeH

(2). Tl

(3). rRHA

(4). I

3UYFd H F Flel-aled § IRFEARS AS/AET Iclee & v geard g2

A. Faer 1 3R 2
B. %had 2 3R 3
C.1,23R3
D. 1,234

Answer ||| B

Solution ||| Kancheepuram is a place which serves as traditional home
industry for its well-known crafted sarees, so this is correct. Chanderi, in
Madhya Pradesh is famous for production of Pure Silk, Chanderi Cotton
and Silk Cotton fabrics which serve as famous centre for traditional saree
weavers, hence it is also correct. Bhadrachalam is a religious place in
Orissa which is not related to production of traditional sarees or fabric, so
it is incorrect. Karnal in Haryana is also an invalid option as this is not
much known for traditional fabric. With this only 2 and 3 are correct,
hence correct option is B.

26 .91 & 3TIAH ~IATerd # =it T §&ar & def aiel H Afed fhas
fafea &2

A. HIRT T TSeafa

B. ¥dg

C. #Rd &1 #AET ~A=FHfA
D. faf&r 3marer

Answer ||| B

Solution ||| As per Article 124 of Constitution of India, there appears that
as per law, Parliament can prescribe number of judges to Supreme Court.
Further it is noticed that Parliament has passed an Act which is known as
Supreme Court Act that will show number of judges at Supreme Court of
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India. This description shows that Parliament has a power to increase the
number of judges in Supreme Court of India, so option B is correct.

27 fFafaf@a & @ sia-ar s A9, 377 & shat & g9t &1 J8F 82

A. FFgT
B. &
c. Reg
D. e

Answer ||| A

Solution ||| The organisms discussed in this questions belongs to
Subphylum Chelicerata, which further is categorized into various classes.
The Chelicerata class Arachnida contains spiders, scorpions and mites
while class Malacostraca contains Crabs, so A is correct as Crab belongs
to different class among other organisms.

28.Afef@d sl W faar fIfSw:

(1). HFHT FI AUVS & 3cUIGe] & TolT AT fhAT ST Fehell B
(2). AFHT T THNT daT SF-3eTd & fow HrsTeid g dohdT ¢l
(3). HFHT F TANT F Tohigell UF 3c9eT AT ST GeheT &
3UYFd FYAI A @ FIF-AVA T g/e?

A. Fae 1

B. &haal 1 3R 2
C. %dar 2 3R 3
D.1,23k3

Answer ||| D

Solution ||| Maize in India can be used for production of starch, oil and
sweeteners which is applied for thickening of sauces or soups, so
statement 1 is correct. Maize oil is used for production of biodiesel as it
has better cloud point as compared to yellow grease, so statement 2 is
also correct. Alcoholic beverages such as chicha and type of whiskey are
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produced from maize, so statement 3 is also correct, hence option D is
appropriate answer.

29.faFAfaf@a aesitepi/aReesr3t ¥ faar fifaw:

(1). Wel arel gredt H Hpolel 3R JqoT

(2). FIfAdIgAT AT Feegar

(3). et ARaar

3UYFT H § HIA-T/A AR BHeAl I Telled H GIFd glaT g/8d &7

A. Faa 1
B.2 33
C.13R3
D. ®I5 &l

Answer ||| D

Solution ||| Transgenic plants can be constructed in the presence of DNA
deoxyribonucleic acid which is inside cells of living organisms which stores
organism's genetic information. These plant carry genes that are
artificially inserted in plant through pollination which basically followed by
transferring of DNA among unrelated species. With this it is noted that all
options mentioned in the questions are incorrect as above approaches
does not involve transferring of DNA.

30.%heg 3R TSAT & 9T gl arer [aer &1 @ e & IRT & 3TIdd
AT i Aafed fhas edeTa 3mdr &2

A. wraelt 3ifAFRar & edea
B. 3ol JfRSIRAT & 3feddrd
C. Aot 3fRemRar & 3tedeid
D. Re 3if8eRar & 3edia

Answer ||| C

Solution ||| Supreme Court carries special advisory jurisdiction which is
related to matters referred by the President of India where there are
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provisions for reference or appeal to Court under certain Articles
concerning matters on transactions in securities, Terrorist Activities,
Consumer Protection etc, so this incorrect. Supreme Court carries special
Appellate Jurisdiction where power given to court to hear appeals from
lower courts that can be reverse or modify as per discretion, so this is
also not correct. Supreme Court carries exclusive original jurisdiction
which covers dispute among Government of India and States on law or
fact where existence or extent of legal right depends, so option C is
correct

31.fAFAfef@d # & Sla-ava qaafee 9Rade Fi/e 36T80T g/8?
(1). AIf3Td FeRSS &1 e

(2). §% T eI

(3). §7Y 3mEehce

A feT AT FHe H FANT F FE IR JEAT|

A. Faer 1 3Rk 2
B. shddl 3
C.1,23R3
D. 18 =gl

Answer ||| B

Solution ||| Chemical changes took place when chemical reactions among
substances form new products. Crystallization of sodium chloride is
incorrect as solubility of sodium chloride in water will not result in excess
change in freezing and boiling points. Melting of ice is also incorrect as it
is a physical change since it employs change in physical state of water
from ice in solid state to water in liquid state. Souring of milk is a
chemical change as it results in production of sour tasting lactic acid, so
this is correct, hence option B is correct.
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o~ ~ —~ ~ ~ ~

& Tordeh IcUIg & forT Srar Jrar &
(1). | freaty Far

(2). | #Fama IH
(3). | FHvEw | EEE

30ged # @ FIF-A8 geA w9 gAfaa 82

A. Faer 1 3R 2
B. %hae 3
C.1,23R3
D. &8 =gr

Answer ||| D

Solution ||| From the above question, mango crop production is mainly in
areas of Ambala, Panipat, Karnal, Yamunanagar and Maharashtra and not
in Mewat, so it is incorrect. The Areca Nut crop production is not in
Kinnaur region whereas it is present in coastal regions, so it is also not
correct. Soya Bean production in India is mainly in Madhya Pradesh and
not in Coromandel since it is famous for peanut crop productions, so this
is also incorrect. From the above description we see that none of the
above options are correct, hence D is the correct option.

33.famfafEa oAt & @ Fla-a/a Fer gAtad g/6?
IHed{aT AT ERIEE

(1). | Sfaeh—grsica | o &1 9fiehar a1 3R ga T ged) deh TRt S
(2). | A= T &1 ATATHT A Heawor

(3). |arder 1 3K 2 | @i wk oR@r &1 3w

A feU aTT FHe 1 JANT N FE IR gAT|

A. Fhad 1
B. &hdol 2 3R 3
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C. &dol 1 31K 3
D.1,23k3

Answer ||| B

Solution ||| In the question given above, we see that Cassini-Huygens
relates to mission which was conducted for launch on Saturn and not with
an idea of orbiting around Venus and sending data to Earth, so this is
incorrect. Messenger Spacecraft is a mission conducted by NASA for
finding planet Mercury, hence it is correct. Voyager 1 and 2 Spacecraft
serves as mission by NASA in to explore outer space of solar system,
hence it is also correct. We see that both statements 2 and 3 are correct,
so option B is correct.

34. AT A & Sla-avd FU diut F FIR¥F gadT & TFEey H TE g8 ?
(1). FAF YT« FAliT FTATEAT Pl 3ol HIAT g

(2). @A Gatiel fANIUI3iT &1 ASyeae el H T gl

(3). @A Fatiel fANIUL3MT &I AT Fel H HgrIh g

A feT AT FHe H JANT F FE IR I

A. Fae 1

B. %had 2 3R 3
C. %der 1 31X 3
D.1,23k3

Answer ||| C

Solution ||| In Plants, the vegetative propagation corresponds to asexual
reproduction where single plant gets involved whose offspring results in
single parent that serves as clones of parent. Only seed and micro
propagation will get rid of virus and vegetative propagation that can be
practiced all through the year. It is seen that advanced vegetative cloning
as Meristem culture will help to get rid of virus. So we see that statement
1 and 3 are correct as Vegetative propagation gives clonal population
which can be worked out in most of the year which statement 2 is
incorrect as Vegetative propagation is responsible for virus diseases in
plants.
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35.7hd cafda & ShafAd ggare gd, 3Tel-or $hadeTor &

37olmar, Fei@a & O SI9-ar/8 AT § -7 ST GohdT g/dTT ST Johd §?
(1). aRarier swAdaToT

(2). TfScuca waAdEToT

(3). are AfAAA

AR fQU 91T e HT gANT X T 3R giAT|

A. Faa 1

B. %had 2 3R 3
C. %der 1 3R 3
D. 1,233

Answer ||| D

Solution ||| Biometric identification or verification about a person clearly
describes distinguishing biological traits of a person. It covers iris
scanning, retinal scanning, speech and voice recognition, face and finger
print recognition and DNA match. All options in the questions are correct,
hence D is correct.

36.F=@d & & FHIT-T1 T UhH JHIA-HWV0T H FiEATIT 87

A. TS 3ol FFd gl ITadd Fofl aelcll &

B. yradd Far, Rufasr Far & aRafda gidr § 3tk afaa & sar g

C. #HISTel 3fierdiichc gIohY hieiel SISIHTFATSS HR STel HFcl Il ©

D. 3TerdiateT off ST & T2 S 383ieass 3R SToarsy agl [Hedd &

Answer ||| B

Solution ||| Photosynthesis is a process where green plants uses sunlight
to make carbohydrates from carbon dioxide and water. Such plant
absorbs water by roots thereby giving carbon dioxide from air which
enters in leaves by stomata. In photosynthesis, glucose is formed from
water and carbon dioxide which is decomposed into oxygen releases
hydrogen. With this we see that option B is correct while all other options
are incorrect.
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37.: 9 & U3 & Hegdl H Afaf@d Fuar W R fAifaw:

(1). & oifd & el 3N FHRAG & geiesa 1 @ERT &= & Qv ha &
el T YT FleaAs & & & FAT 7 IhaT gl

(2). A & ST FT THT AT-58 IR FEIAT IIHATSTRT FI fFATOT F F grar
gl

(3). A & A HT Iy WP Seher # g gl

3UYFA HYAl A @ BIA-AVA T /8?

A. Faer 1 3R 2
B. %hae 3

C. %der 1 3R 3
D. 1,233

Answer ||| D

Solution ||| Neem oil is extracted from seeds of heem tree that has insect
repellant and insecticidal properties and can be used for production of
biofuel and are used in pest control, cosmetics, medicines. Statements 1,
2 and 3 are correct as Neem oil are applied in pesticide in order to control
proliferation of species of insects and are used in pharmaceutical industry
while neem seeds are used in manufacture of biofuels.

38.8Rd #H 3HAW@ 9&dd & favg # Aeafaf@d sy« ) faar fifaw:
(1). #Rd & Tfours & R Afaaa oeda #T F1g oo™ A8 ¢l

(2). HTAETE JEATT hael olleh T & & GoA-TAMAA fhar ST Fehell &
3UYFd FYAI A @ FIF-AVA T g/e?

A. &hae 1

B. &had 2

C. 13 2=t
D.Aadar13ikaar2

Answer ||| C

Solution ||| There is no description of No-Confidence motion in
Constitution of India. This is designed as per rules of business of Lok
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Sabha, whereas it can be introduced only in Lok Sabha and not in Rajya
Sabha, so both statements are correct hence C is correct.

39.fAIfaf@d el W AR fifGw:

(1). TegUid, AR THR & SR 3t Giaurgds v s & fav 3R A
H 3ad & & e & v @G| sarwem|

(2). IRT THR HT TALT FRUTIS HRASAT THAHAT & AT T T §‘§ Caal
SITaaY|

3UYFA HYUAl A @ lT-AVA TE /e?

A. Faa 1

B. &had 2

C. 13k 2 a=r
D.aar13iRag?2

Answer ||| A

Solution ||| Option 1 is correct refer Article 77(3) of constitution of India.
Option 2 is wrong because All executive actions of the Government of
India shall be expressed to be taken in the name of the President.

40.7ReT 3rdcuarar 7 AfE sO9T &F X & 9T ST g, df 98

A. 3ISTTEAT H 3YHNET T TITIT
B. TXHR & F-HIAG I qGITIN

C. dcugear H AT eTF &I Feruam
D. 3rfcgaedr # Hel T I T

Answer ||| C

Solution ||| Decrease in interest rate in an economy will increase the
money supply, thus increasing the investment expenditure. With low
interest rates, the banks will have more leverage to lend money for
businesses and to purchase households items making an individual to
spend more. With this option C is correct as if interest rate is decreased,
then there will be increase in investment expenditure in the economy.
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41.Ffaf@a & @ la-dr F Tsg F Togure # & 715 Aawreha afFaar
&2

(1). ¥RA & TSgUTd HI, TSI A IFRTAT Rt & folw R FSar
(2). AT T AgrT e

(3). T [AUTTAvSE garT IiRd a9y [q8geh! &1, #Rd & Tsgufad & faar
& foT IRIGIT &1

(4). ToT WHR & HF ATl & v HTeT qq6T

AR fQU 91T e A JANT X T 3R giAT|

A. Faer 1 3k 2
B. ohael 1 3R 3
C.%ad 2, 33K 4
D. 1,2, 334

Answer ||| B

Solution ||| There are many discretionary powers given to Governor of
State such as Reservation of certain Bills for consideration of President,
recommendation for obligation of President’s Rule in State, exercising
duty as administrator of adjoining union territory, seeking information
from Chief Minister in administrative and legislative matters of state, so
with this we see that both statements 1 and 3 are correct. Statement 4 is
incorrect as making rules to conduct business of State Government is the
duty of Chief Secretary to exercise on instructions of Council of Ministers.

42 .ref@d Ul W TarR HifST:

T THR 98 §

(1). 3 To 6 T & R F AFT A TIETA T GHEFY TG T ¥
(2). S afFd & Tadaar & fgd # TS AT TAT W GHTRRT Ifdaesr o9mmdr &
3UYFA HYUAT H @ lT-ATE FE /e?

A. Fhad 1
B. shaol 2
C. 1 3R 2a=r
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D.aar13ikadr2

Answer ||| B

Solution ||| Constitutional government is set of fixed norms or principles
that are acknowledged as fundamental law that protect the working of
political power. It needs to balance between individual liberty. Such
government does not keep efficient limitations on individual freedom in
interest of State Authority, but keeps efficient limitations on Authority of
State for sake of individual liberty, hence statement 2 is correct so B is
correct option.

43.f==faf@d & @ sia-ara @fFAvsa gRareT #1/F T 8/8?
(1). ATIATUSS dool & [T SR TIR HET

(2). AFFAvse Ffafaal & fov afuarer agrar

(3). HITAT A fadT AT @7 3Teed

AR fQU 91T e 1 JANT X FE 3R giAT|

A. Fae 1

B. %had 2 3R 3
C. %aer 1 3R 2
D.1,23k3

Answer ||| C

Solution ||| Cabinet Secretariat of India plays an important role in
administrative system. There are several duties of Cabinet Secretariat as
it involves in preparation of agenda of meetings of cabinet, keeping
information related to decision making, gathering information for
discussion in cabinet, to inform President, Vice-President and ministries
about important activities and decisions, giving advices and discussing
problems of inter-departmental nature, coordinate among various
departments, finalize rules of business and distributes works to be carried
out among various departments of government and to provide all
secretariat assistance to other cabinet committees. This description
suggests that statements 1 and 2 are correct while statement 3 is
incorrect as fund allocation to various ministries is not the duty of Cabinet
Secretariat, so option C is correct.
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44 FFATIRT # @ HiT-0 AR # ol 8 FFecy g?
(1). faa rareT

(2). TG fashre aRwe

(3). g arefor Qe JAre™

(4). 8 Al 9 #HATa T

(5). @

ARy fQU 91T e HT JANT = T 3R giAT|

A. Fad 1, 23R 5
B.%ad 1, 33K 4
C. %der 2 3R 5

D.1,2,3,43R5

Answer ||| C

Solution ||| In India, Planning Commission is mainly responsible for any
planning involved in the country which involves Cabinet, National
Development Council and Parliament for planning approvals. It is seen
that Parliament is linked with Planning in India along with its active
support from National Development Council which laid certain guidelines
for formulation of National Plan, so this describes 2 and 5 as correct
description, hence C is the correct option.

45.'Uhlehd STrEFeN Taohre Hdshe’ &l HRATT-d Hlel T FAT o1 g2
(1). #ET & S S &l AhATH

(2). g2r Fr SRgATE AT 1 AgHr afedt I Fgar

(3). ai-STeT HAGUT AAT HIA-STAEAT T A0

(4). UThiceh TeTEdfcrdl & Yeloiotel

ARy fgU 91T e @1 JIANT F FE 3R giAT|

A. Fhaer 1 3R 2
B. ohadl 2, 3 3R 4
C.%aa 1, 33K 4
D.1,2,33R4

Answer ||| C
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Solution ||| Integrated Watershed Development Programme re-
establishes ecological balance related to harnessing, concerning and
developing ruined natural resources. The idea of IWDP is to save soil run
off, renewal of natural vegetation, implementing rain water harvesting,
which depict that statements 1, 3 and 4 are correct which makes option C
correct. Statement 2 is incorrect as recharging of ground water table
excluding connection of countries among perennial rivers with seasonal
rivers.

46.9Rd & HAUT H ecRISE Alfed 3R GET & ARG F1 gl Seol@ 87?

A. Gfaerst $r e #

B. U5 & Aifd & fAgers awal &
C. T sharedi A

D. sildl 3reTg &

Answer ||| B

Solution ||| In Article 51 of Constitution of India under part IV, Directive
Principles of State Policy serves as guidelines/principles issued by central
and state governments for promotion of international peace and security,
hence option B is correct. Option A is not correct as Preamble to
Constitution is concise statement of principles having many speeches and
judicial judgment and not promoting to international peace and security.
Option C is invalid as Fundamental Duties serves as moral duty of citizens
in promoting spirit of patriotism and not promoting international peace
and security. Option D is incorrect as Ninth Schedule engaged in purview
of judicial review violating fundamental rights and not related to
promoting to international peace and security.

47 ARA & TFYAIHR & #Ad 3chioT HRT ST TS AT Teaag SIS gl
g o a8 872

A. HS 397AYG

B. By 34fave
C. TaT 3ufvg,
D. Fzh 3UfaAve
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Answer ||| D

Solution ||| Satyameva Jayate means Truth Alone Triumphs which was
taken from Mundaka Upanishad which serves as National Motto of India
inscribed at bottom of National Emblem in Devanagiri script, so option D
is correct.

48.371oeh giSeenivT g & fob faea d9ART qa-3ilcaifaies X & 2 °C & 3t
e SeoT afev| Al faRg araAe qE-3ie e TR F 3 °C & W 9 JATar
g, dl [aeg W 3T gFATfad 3 91 gem?

(1). T SNGAUSH Teh 7l Hleel S8 I IR T g

(2). faEqa varer AT afed g

(3). |afr AUSCT IMCefA TURN &9 & oo g Seal|

(4). 3=Telt T War fag &7 wE7 off Fesa g7 et

A feT AT FHe H FANT F FE IR gEAT|

A. Fad 1

B. shael 1 3R 2

C. %adl 2, 3 3R 4
D.1,2,33R4

Answer ||| B

Solution ||| Global warming of 2 °C above pre-industrial levels is not safe
as it result in climate change impacts that increases largely resulting in
threats to ecosystems, risk of abrupt climate change impacts and
unprecedented high-temperature climate regimes so with this statements
1 and 2 are correct. On increase of global temperature affects pattern of
cereal cultivation but it will not be impossible to cultivate cereals, hence
statement 3 and 4 are incorrect, so option B is correct.

49 .gferof-qdt T # SfEorT @ 3¢ T 3R e W A QU 7T FAIRT 1 HEY
Rufawa Far &2

(1). dish

(2). g

(3). STeRTar
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Answer ||| C

Solution ||| The correct sequence of South-East Asia countries from South
to North can be noted by considering individual latitudes of cities. We
seed that Bangkok is 13.759 North, Hanoi is 21° North, Jakarta is

620 South while Singapore is 13° North, so the sequence of above
countries when arranged from South to North will be Jakarta, Singapore,
Bangkok and Hanoi, so option C is correct.

50.chi foreaar AT UT £?

A. FTelT FER 3R ST aeR
B. &hlell AFR 3R AT HER

C. Ta &I @t 3R Fey aeR
D. 3fehrel &1 @rdr 3R Jd PR

Answer ||| B

Solution ||| Turkey is located in Middle East with its territory in Europe
and Asia and having its coastal boarders on Mediterranean sea on South-
West and Black sea on North, so option B is correct. Option A is incorrect
as Caucasus having border of Europe and Asia lies in between Black sea
and Caspian sea. Option C is incorrect as Egypt is located between Gulf of
Suez and Mediterranean Sea. Option D is incorrect as Jordan is situated
between Gulf of Agaba and Dead Sea.

51.5i9-fafaerar & WrY-ATY HTS & WERRET Siigel & T & fov aed
FAgcaqol WA rafaf@a 7 @ e ve & wuuer &= 7 @fgd 82
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A. Staavse = (Rerd)
B. aleEdider 3¢ATe

C. USET 39aeT

D. ggsild 3IRTY

Answer ||| A

Solution ||| Biodiversity concerns with number of different species living
in a particular region which plays important role in ecosystem. Biosphere
reserve is a protected area where land is divided into various zones for
particular activity which preserves genetic diversity in ecosystems by
saving wild populations and life style of tribals, plant and animal genetic
resources, so option A is correct. Options B, C and D are not related to
conservation of Biodiversity.

52.9Rd & HiAUT $r fFefaf@d & @ -8 v g d col-deel e
fawaes 39eey g2

A. GEL TR
B. Gredl eI
C. 3adl 3eTg=
D. gadl 3eIer

Answer ||| D

Solution ||| In Constitution of India, 10th Schedule which was introduced
by 52nd Amendment in 1985 is related to Anti-Defection Act included by
Ministry during Rajiv Gandhi rule which has provisions for disqualification
of elected members on grounds of defection to other political party, so
option D is correct. Option A is not correct as Second schedule is related
to provisions of President, Governors of States, Speaker, Deputy
Chairman, Judges, Controller and Auditor-General. Option B is incorrect
as Fifth schedule is related to provisions of Administration and Control of
Scheduled Areas and Scheduled Tribes. Option C is incorrect as Eighth
schedule is related to details about recognized languages.
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—— e N

(1). | FEHA JEIE4T | FRAVSS de
(2). | AT 9EITEAl | HiETT dc

(3). | AT weIfeal | A=d &RA

(4). | fATRT ggifzal | gdfet s

3UgFd H @ FlT-AUA J7A e gAfAd 882

A.13R2
B. 233
C.33k4
D. 23R4

Answer ||| C

Solution ||| Cardamom hill lies in southern part of Western Ghats in
Kerala and Tamil Nadu while Coromandel coast is coast of Tamil Nadu,
where Cardamom hill is not located so 1 is not correct. Kaimur hill is
located in Vindhyas that spreads from Madhya Pradesh to Bihar which is
away from Konkan coast, so 2 is not correct. Mahadeo hill is located in
Madhya Pradesh in Central India, so 3 is correct. Mikir hill is part of Karbi
angling plateau located in North East India, so 4 is correct. Since 3 and 4
are only correct, so option C is correct.

54.fFF{afld oAl & & Hla-Ar v HRAT TS 1 7T FEl 572

A. FFATET 3R dgled
B. = 3R dA™+
C. ol ad 3R i

D. ey 3R IeEr

Answer ||| C

Solution ||| There are many traditions of philosophical thought which
originates in Indian subcontinent such as Hindu philosophy, Buddhist
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philosophy and Jain philosophy. There are 6 Systems of Indian Philosophy
such as Samkya, Yoga, Naya, Mimamsa, Vedanta and Vaiseshika. So we
see that according to the options shown, C is correct as Lokayata &
kapalika are not the part of Hindu orthodox Philosophy but are related to
heterodox non hindus philosophy.

55.fArfi@d g7al W faar fifsw:

HIEETA Afet &1 FHarA

BT AT = AT Hae & WA
haelicd O TSI 3EAT | da1d Y Toaol &1 HI1d
Hiel® Eiel AT 3T &0 F FAA

3UgFd IeAT H F FiT-A0A T gAfT 22

A. Fad 1

B. ohdel 2 3R 3
C. daa 1 3k 3
D. 1,233

Answer ||| A

Solution ||| Harike Wetland is a man-made wetlands located in Punjab
which is near the confluence of Beas and Sutlej rivers, so 1 is correct.
Keoladeo is National Park located in Madhya Pradesh near the confluence
of Gambhir and Banganga rivers and not near confluence of Banas and
Chambal, so it is not correct. Kolleru lake in Andhra Pradesh is a fresh
water lake lies between Krishna and Godavari river deltas, so it is
incorrect. Since 2 and 3 are incorrect, it eliminates options B, C and D.

56.fArAfaf@d Afcal W faar fifaw:

(1). RTH

(2). enfed

(3). gef=ai

3Uged # ¥ HlA-E HTOMES Jer F g agdt §8?

A. &had 1
B. &hdol 2 3R 3
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C. &dol 1 31K 3
D.1,23k3

Answer ||| B

Solution ||| The rivers which flow through Arunachal Pradesh are Siang,
Kameng Subansiri, Dirang, Lohit, Tawang, Dibhang and Tirap. It is seen
that Lohit and Subansiri are tributaries of Brahmaputra River that flows
through Arunachal Pradesh, so both 2 and 3 are correct. 1 is incorrect as
Barak river originates in Manipur and flows through Mizoram and Assam,
so option B is correct.

57. 4R & AiEpids g & Hoedl & garae Ueg frd Afése aar 82

A. TH & SUSS-ST=Al T THT
B. i TFve

C. HAfreY TTAT-YelT

D. s TARRY

Answer ||| C

Solution ||| With respect to cultural history of India, Panchayatan refers
to the type of style used for construction of temple, so option C is correct.
Options A, B and D are incorrect as Panchayatan does not relate to
gathering of village elders, nor is part of religious section and does not
work as administrative functions.

58.9dail &l AGHT 3cehAUT fohaerr g&dT ifderetor §2

A. FERTT Sieldry
B. {HAEIANRIT STorary
C. ATAHA STelarg

D. 3ugeFd T3l STerarg

Answer ||| C


http://www.gradeup.com/

e

www.gradeup.co gradeup

Solution ||| Monsoon Climate is a seasonal reversal in wind patterns
which carries dramatic change in precipitation which starts from south
west direction in summers and while returning reverses its direction from
North East. This description shows that option C is correct. Option A is not
correct as The Equatorial Climate carries hot average temperature
throughout the year with precipitation from 60 mm to 2000mm. It is not
in effect with reversal winds.

59.9Rd & Hal 39eT AL feifai@d # @ fhad/fhaaq geafcud g/&8?
(1). afesrr FiY

(2). TellH el

(3). ISUTRfes=El STerarg

A feT AT FHe H FANT F FE IR JEAT|

A. Faer 1 3R 2
B. &had 2

C. %der 1 3R 3
D. 1,233

Answer ||| B

Solution ||| Soil Erosion is degradation of soil which removes the trees
and other vegetation that holds the soil together. If vegetation is
removed, soil surface gets loosen through running water and wind. The
rain water which absorbed by soil runs off the surface carrying soil, so it is
the main cause of soil erosion. Statement 1 is incorrect as Terrace
cultivation is a method of farming that protects soil where flat platforms
are constructed in steps in series with slope and water gets retained on
each terrace that helps to raise crops. Statement 3 is incorrect as tropical
climate is not related to soil erosion, hence only statement 2 is correct,
hence option B is correct.

60. AT & ¥ fratel vara-fAfear g2
(1). 3ecH R AR cdaaeTg

(2). Fa Fr @iy

(3). FeAR T WraEr
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(4). Freao
A feU AT FHe 1 JANT N FE IR gAT|

A. Faa 1, 2 3R 3
B. %haer 2 3R 4
C. dhaal 1 3Rk 3
D. 1,2, 334

Answer ||| A

Solution ||| Coral reefs are different marine ecosystems carrying calcium
carbonate structures which is secreted by corals. These are found in
abundant in the areas of Gulf of Mannar, Palk bay, Gulf of Kutch,
Andaman and Nicobar Islands and in Lakshadweep islands, so it seems
that option A is correct. Since coral reefs are not found in Sunderbans,
this eliminates option B and D.

613X H JaR (ForeX diel) T GRFIRD & & Heoll AT Y[ 3MER & & H
39T FRAT SATAT &, fohed 8Tel €1 A ST Wkl o Heed N TAUH o fham &
3H HegH H eafaf@d & & Fla-ar v < dar 87

A. ISt & fAerell I/ T del Sia-fae=iietolia geedt & @aTor & ggerd giar @
B. gd%h it @ AfAT vl Ot 3 & Fsehdor & gy g &

C. @ WY &1 ufeat & &R # wfakea@a st gar &

D. g 3=d UIAT & Sid-SIstel FT Uk 381 &

Answer ||| B

Solution ||| Guar plant has functions for human and animal nutrition
having gelling agent containing guar gum which demands for rising
rapidly due to industrial usage in hydraulic fracturing during shale gas
extraction. This gum is used to make sauces and ice cream and is the
main ingredient of hydraulic fracturing process for extraction of oil and
gas from oil shale. Option B is correct while option A is incorrect as oil
from seeds are not applied in biodegradable plastics.
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629X & UEUT FHET & Hoadl # HAeATA@d Hyel R faur fifsw:
(1). ¥ AL WS AT H T Bl

(2). T 37TS HEH FT 3T ol ATl IRHAAT THI-THRAT I ITeld g

(3). 37¢ TR SiTaticrat Hr Ao & @1 e g

3UYFA HYAl A @ BIA-AVA T /8?

A. Fad 1

B. %had 2 3R 3
C. %dd 3

D. 1,233

Answer ||| B

Solution ||| Changpa is the name of semi-nomadic people belongs to
tribal community of Jammu & Kashmir and Ladakh. Changpa of Ladakh
raising yaks and goats while nomadics will take care of herds. They were
the pastrols of Pashima goats

63.'PIA-TETR HATA 3R VT I FAHAS & IR-WMERWETT FAT 33l & Teedl
7 Aol Fuar ) AR fifaw:

(1). PAT-TER A, Hirgenn FErc § FenSa e A9 39 §, Staih Ao
I SFaer WO AR g F v fAHOT § S gEASOIe gl et @ g
&1 ST Thah g

(2). XA A PYA-HER HAA FIT g H &, o] 39 T Al 39 & 381
STgl 91T [T g

3UYFA HYUAT H @ lT-AVE FE /e?

A. &ad 1

B. &l 2

C. 1 3R 2 g=r
D.aar13dikadr2

Answer ||| D

Solution ||| Coalbed methane is a form of natural gas extracted from coal
beds and contains very little heavier hydrocarbons: propane or butane
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while Shale gas is made up of methane. Statement 1 is incorrect as
Coalbed methane is a form of natural gas extracted from coal beds and
has butane and propane as hydrocarbons, while shale gas carries
methane and not a mixture of propane and butane. In India, shale
reserves are there in Cambay, Assam-Arakan, Gondwana, Krishna
Godavari, Kaveri and Indo Gangetic plain, while Coalbed methane is only
available at Asansol in West Bengal, so statement 2 is also incorrect.
Since both statements 1 and 2 are incorrect, so option D is right choice.

64.7FA-1V 98T & el H faAfaf@d suat § O Sla-and a@g@r g/8?
(1). T§ WIT-T-ERTTT doh AR I dlell Y8983 gl

(2). 3G Had gd Algeh ST & &I H STAATA gIdT gl

(3). IE Teh-Tol ANMABIT TGRES &l 7500 fhelldey gl deh theh Hehell &
A feT AT FHe H FANT F FE IR gEAT|

A. Faa 1

B. %had 2 3R 3
C. %aer 1 3R 3
D. 1,233

Answer ||| A

Solution ||| Agni-1V is 4th Agni series surface to surface missiles
developed and tested by India which is light in weight and has two stages
of propulsion (liquid and solid) and takes warhead of 1 tonne by traveling
vertical distance of 850 km with its full range of 4,000 km. This
description shows that statement 1 is correct while both statements 2 and
3 are incorrect, so option A is correct.

65.fAFfaf@d oAt W faar fifw:

1. | & S v §AERT & Aar g | &or

2. | F=ear e e
3. ERET ATl

4. | Tara arér ESiED

3ged # @ SISV geA w6 gAfaa 82
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A. Faa 1

B. %had 2 3R 3
C. %aer 1 3R 3
D. 1,233

Answer ||| A

Solution ||| Chechnya is located in South West Russian Federation, so it is
correct. Darfur is located in Western Sudan and not in Mali, so it is
incorrect. Swat valley is located in North West Pakistan and not in Iraq, so
it is also incorrect. Hence from the above options we see that option A is
correct.

66.fAFfaf@d gaf W faar fifae:

(1). STATH

(2). STt

(3). ITT B

(4). IeTses famarsHA

(5). TS FTH 3 ARG

3UGFT A § -8 ‘Iehiceh H3acl & T 87

A.1,23R3
B.2,33R4
C.1,43R5
D. 1,335

Answer ||| D

Solution ||| Arctic Council is high level intergovernmental forum
comprising of eight Arctic States which includes Canada, Denmark,
Finland, Iceland, Norway, Russia, Sweden and United States, that
addresses issues faced by Arctic governments and local people of Arctic.
The options in the question suggests that Denmark, Russian Federation
and United States of America are part of Arctic Council while Japan and
United Kingdom are not, so option D is correct.
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67.8Tcl &1 & Teh Sil-fagig J@er, f98 3R &ET gl o/ 2m, HoId: fhg qor &
UAE §S7?

A. I (Efee)
B. ol§silel

C. diRar
D. TR

Answer ||| D

Solution ||| Arab Spring was a Tunisian Revolution involved in
demonstration, protests, rioting and civil wars which was started in Arab
world in 2010 in Tunisia and spread across countries of Arab League and
its surroundings, so option D is correct.

68. R 3Tcgaeadr & Tegdl H Arifof@a & & wla-and @ifdfs 3mfEa
TAIRATH T/ 3662T o/ ?

(1). FearT df A1, dFT garT HfFET FT ST Fqhad arelr JIF TRFT W =707
TG I FETHAT YeTeT el

(2). depl & SteTdr T AT UG A GI&IT T el @A

(3). STEATR® sSpl Pl cTTAR ATH HATT & Jehel

(4). dot A RA-ufAfee i 3maIsansi & QU #a & AT wdicd FIvs dadr
(@Tec HeM) IWel PN TTET HAT

AR fQU 91T e @1 JANT X FE 3R giAT|

A. Faa 1

B. &haal 1 3R 2
C. %dar 2 3R 3
D. 1, 2,334

Answer ||| B

Solution ||| Statutory reserves are liquid assets or an amount of money
which is kept set aside by banks in Statutory Reserve Accounts. RBI
directs commercial banks to keep reserves so as to make sure that
commercial banks should carry safe cushioning of assets which can be
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paid to customer account on his demand. Statement 3 and 4 are incorrect
as Reserve requirements are just for precautionary measures and will not
stop banks from having extra profit, so this eliminates options C and D.
With above explanation, we see that both statements 1 and 2 are correct,
SO correct option is B.

69.eMERfed & H TG Hargerarsil (der aref) Fr Jart garr arenfdar
I hieT-AT FraLmglaemd ured g 2782

(1). TE menfiAt &t 39er ag 7 39T ARIOT 3R AHATSIS FI&T o1t Iredt
T AT FAT &

(2). I8 IO A F AT A ARy AT IS T IEIT I AT FATdT
gl

ARy fQU 91T e A1 JANT X FE 3R giAT|

A. Fad 1

B. &had 2

C. 13k 2 g=r
D.Adar13iRaar2

Answer ||| C

Solution ||| The bank will select business correspondents which is bank
saathi that will works as intermediaries among rural people and bank
itself. With this, there will be no requirement for village level presence
and in such case problems related to customer handling will get avoided
which will work in closely located areas. Along with banking facility, this
provisions allow government subsidies and benefits of social security that
directly credited to particular beneficiaries accounts with which, they can
withdraw money from bank saathi in particular villages. So we see that
both statements 1 and 2 are correct.

70.\dA=T TR giaem g7 qur ‘Faor Arer AR S 2IarT’ gcaeer Ha-sha
AR & 3d 8 &1 3T 99T fhaes gFaey & fhar orar &7

A. % F1¥
B. ¥OR wcdfeher
C. Jer shierer
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D. $¥ Seurel &1 qic wa Afar

Answer ||| A

Solution ||| The Marginal standing facility is such that when a bank
borrow from Reserve Bank in case of an emergency while Net Demand
and Time Liabilities in banking will include current deposits, margins,
balances, cash certificates, Mail Transfers and Demand Drafts. So these
are the terms that are associated with Banking, hence option A is correct.

71,3911 Todoled & Feadl # Aefafad # @ fhad/fFad dre] Qi §dr §7?
(1). MR Hedeldd

(2). Taceh aRgeafaar

(3). 3ET HT ool

(4). fAY 3TEoT AHRSPR

A feT AT FHe H JANT F FE IR JEAT|

A. Fad 1
B.2 3R 3
C.13Rk3
D. 1,234

Answer ||| C

Solution ||| Balance of payments will monitor international monetary
transactions for certain period which is for every quarter and calendar
year. In this, every trade whether done by private and public sectors are
accounted to find the inflow and outflow of money from the country. From
the above options, we see that answer C is correct as Foreign assets
related to particulars about drawing of Rights which lies under Capital
account.

72 .9Rgdl Gua¥id ISt I H&T 36T & §7?

A. ATl faere 3R IE sgeetoT
B. gATEM Td arviy A
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C. S Tere 8] YR vd FaAmael fawm
D. digR, ¥Rl vg Sarer @Al e

Answer ||| D

Solution ||| The 12th five year plan was presented by Planning
Commission for 2012-2017 which aims to have growth rate of 8%. The
main target of 12th plan is to focus on inclusive growth which encourages
development of agriculture, education, health and social welfare through
government funding resulting in fast and sustainable growth, so with this
we see that statement D is correct. Options A, B and C are not correct as
aim of 12th five year plan is not for inclusive growth, poverty reductions
or sustainable and inclusive growth to reduce unemployment.

73.3¢gA Yoit & &1 dcad g2

A. 3TN T 3UTY S IS HoTahlellel Yoil

B. 7Y 3cUAAT &l 3l FIg IS SIeihlelle] TRIFHSH Yoll

C. 3319 & gifdl 3o1a TFAT 39ceY s s faar

D. 3¢ & ITAEUTTsT T Adie]oT & folv 3cleyr ars a5 ffaar
E. 390eFd HiY

Answer ||| B

Solution ||| Venture capital is the money which is given by investors in
order to start new company or to start any small business having good
business idea or technology with clear long-term growth prospective. It
serves as an important source of funding for new startups that have no
investment to start. This description shows that option B is correct as
Venture capital is a long-term start-up capital which is given for new
entrepreneurs. Options A, C and D are incorrect as it is not related to any
short-term capital given to industries or any fund for incurring losses nor
money given for replacement and renovation of industries.

74.Taa-ay, Tt $aTclel 39 &S YIS Wlled FAY A ¢, oeAtai@d #
T 9 PR T T g2
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A. Feg TIHR @Rl FRTAT

B. Sheg TR ¢@RT IR b ToT TIHR EaRT FILT
C. TCT TWHR @R IR fohed dheg THR SR FIET X
D. IT S&R ¢aRT AR Td HIEd

Answer ||| D

Solution ||| It is noted that maximum government's revenue comes from
taxes which are paid directly and indirectly by individuals or companies. It
is the job of the State government to impose and collect tax on goods
other than newspaper. Option D is correct as State Government duty is to
impose and collect tax on product. Option A is not correct as tax is not
imposed by Central Government. Option B and C are incorrect as tax is
imposed by State Government and collected by State Government only.

75.90% ¥ &iaug faRIse FHer/Senta aRiEfdes &9 @ Ageaqol, AG-31
Tolel aTel HTAAEA/IIGN & SRIT BelaR Jait i aier &1 A9or i §
fArfaf@d & @ #la-@ @ FggeE/Seid §?

A. gifean 3R oo
B. 75 3 i

C. %o X di=r

D. @gRar 3R 3weTiar

Answer ||| B

Solution ||| It is seen that normally every monsoon, Gond and Korku
tribes of Madhya Pradesh’s celebrate Hari Jiroti which is month long
festival of greenery in which the tribes plant trees in the memory of
elders which are tribals plant saplings of fruit-bearing trees. With this we
see that option B is correct while Option A is incorrect as Bhutia and
Lepcha are people from Sikkim which are famous for weaving and wood
carving. Option C is also incorrect as Irula and Toda are tribes from
Nilgiris who graze animals, do fishing and work in Tea Plantations. Option
D is also incorrect as Sahariya & Agariya are tribes from Uttar Pradesh
who are hunters in forest.
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76.fAFfaf@a TAl # @ fohetenl @Faey geu & Shasl @ UT?
(1). 3@fed

(2). MR

(3). I

(4). HITT

ARy fQU 91T e HT JANT X T 3R gAT|

A. 1,233
B. 2 3R 4

C. dhadl 3 3iR 4
D.1, 33k 4

Answer ||| C

Solution ||| Buddha during his period travelled across many places across
Northeastern and Central part of India to teach people. During his
preaching period, he covered 8 kingdoms such as Sakka, Kosala, Vajji,
Angga, Magatha, Kasi, Vangsa and Avanti. Since Avanti was not directly
associated with life of Buddha, so this statement is incorrect, which
eliminates options A and D. Statement 2 which describes Gandhara as
kingdom of Buddha is also incorrect as it serves as expansion of Mauryan
empire which again was not associated directly with life of Buddha, so this
eliminates option A and B. Statement 3 and 4 describing Kosala and
Magadha as kingdom of Buddha are correct as king of Kosala results as
Buddha’s contemporary. For teachings, Buddha travelled across towns of
Kosala and Magadha.

77 fAFfaf@d # @ -8 F© Agea ol Yol § S #Rd & ST 31T ganT
HqFd T S 872

(1). oW & 3HFaETSsS

(2). FABeISA & TS

(3). FIeT AABTFASS

(4). I SSIHFASS

A feU AT FHe T GANT N FE IR gAT|

A. Fad 1, 3 3R 4
B. &hael 2 3R 3
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C. Fad 1 3R 4
D.1,2,33R4

Answer ||| D

Solution ||| Steel manufacturing involves burning of coke which reacts
with iron ore and releases iron and generates CO and CO2 gases. With
this, the release of oxides of sulphur, nitrogen, carbon monoxide and
carbon dioxide occurs, so pollutants like SOx and NOx are released.
Hence options given in the question are all correct so D is the answer.

78.397¢ 39 gATT & Bl ITAT X g, dl Ul T8l eifalild & & fha
qre/feheT et T IThfde ¥ H 3910 §U fG@e i qEHATEET 7

(1). §ft

(2). g&U

(3). de=t

A feT AT FHe H FANT F FE IR JEAT|

A. Faer 1 3R 2
B. shadl 3

C. dhaol 1 3R 3
D.1,2 3R 3

Answer ||| A

Solution ||| Rhododendron plants grows on Montane Grasslands and
Shrublands wile indigenous oaks and maples found in Temperate
Broadleaf and Mixed Forests on Himalayas so both Rhododendron and
Oak are correct making option A as correct. Sandal wood does not
naturally grown on Himalayas but grows in tropical dry region, so it is
incorrect.

79.7lShet, ST Ueh #l9e] e WX &t aIRTEUfAeh 3rgshar 1 UREeT il H HatH
g, aEda & fheTa dgolidr IEay 872


http://www.gradeup.com/

¥

www.gradeup.co gradeup

A. Qarel 3R Sftaroy
B. ¢arer 3R was
C. a1y 3R Has
D. #as 3R AT

Answer ||| B

Solution ||| Lichen are dual organisms which serves as symbiotic among

fungus and alga or blue-green algae. This statement shows that option B
is correct as Lichen are capable of initiating ecological succession on bare
rock which serves as symbiotic association of algae and fungi and not of

algae and bacteria, bacteria and fungi, fungi and mosses.

80.FEIHIClT R H FAg’ IR ‘Uechher Yealid foheteh foIT Sgerel gl 472

A. =g TR

B. I\ Fi@ar

C. dfceh HHAFIUS & AATA
D. fRed A0t & vy

Answer ||| B

Solution ||| Mahattara & Pattakila in medieval Indian were associated with
Village Head men which were served as root words for patels later. We
see that option B is correct while all other options are incorrect.

81.3fg 3T AT &1 { gl IR &, ol MUl Ig W I AT Fhehl § Th
3o G & Gafl, T are gg3i/AE & NN "ed § 3R 3% e A gole
q 3Aed gl aTel el F ghsd &1 Feafaf@a & & Fi9-ara t@Rd gaft
g1e?

(1). T sre=

(2). TTEROT Hell

(3). FTT ICA aTellT TRE

A feU AT FHe T TN N FE IR g
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A.13R2
B. shad 2
C.23R 3
D. ohddl 3

Answer ||| B

Solution ||| Painted stork is a wading bird found in wetlands of plains of
tropical Asia south of Himalayas, so it is not correct. Common myna is an
invasive pest which is insect eaters found along the side of cattle during
grazing, which is correct option. Black-necked crane is a rare bird species
which breeds in high altitude wetlands and feed on plant roots, tubers,
earthworms, grasshoppers, snails, shrimp, small fish, frogs, lizards,
beetles, flies, small rodents, so this is also incorrect, hence option B is
right option.

82.FTafld # @ HIT-A/A J2dl Ag G HleeT °sh H Hleel SSIHFHISS I
HTET AT B/ 87

1. Saremadr fhar

2. 94

3. YRTT-HLAYOT

4. 319 qerd #1 &7

A feT aTT FHe T JANT w FE IR gEAT|

A. Faer 1 3R 3
B. &had 2

C. Fad 1, 2 3R 4
D. 1, 2,334

Answer ||| C

Solution ||| Carbon cycle is biogeochemical cycle which exchanges carbon
that gets released from ecosystems in shape of carbon dioxide gas which
takes place in both plants and animals which breaks carbon organic
molecules into carbon dioxide gas. Option A is correct as Volcanic action
results in eruption of large amount of volcanic matter and carbon dioxide.
Option B is correct as Respiration in humans and animals intakes oxygen
and releases carbon dioxide. Option D is correct as Decay of organic
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matter results in production of carbon dioxide because of bacteria. Option
C is incorrect as photosynthesis takes carbon dioxide and releases oxygen
in air and did not add carbon dioxide in carbon cycle on planet Earth.

83.FFIaf@d # ¥ - v gad F31 FEST AT &7

A. & or@r afafa

B. UTdeholel TfAfT

C. WFRY 39shA FfAfa

D. aifaer @fafa (@A 3 fferw)

Answer ||| B

Solution ||| Committee on Estimates has 30 members elected by Lok
Sabha every year from its members, so it forms largest Committee of
Parliament among all, hence it is correct. Option A and C are not correct
as both Committee on Public Accounts and Committee on Public
Undertakings has 15 members elected by Lok Sabha with 7 members of
Rajya Sabha. Option C is also incorrect as Committee on Petitions has 15
members which are nominated by Speaker.

84.famfaf@ad w foar ffgw

1. TS

2. #Te

3. Fedsh (UseT)

3T A § F YR & Sl A NATATSHIT S gReEeT 1 9aor fonar
Hehell §7?

A. Faa 13k 2

B. &had 2

C.1,23k3

D. MAfATSATar suderd # & forell & o w7gT Gfara v S Fehelr

Answer ||| C
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Solution ||| Hibernation is idleness and metabolic depression state in
animals that appears in cold weather making the low body temperature,
slowing of heart beat and breath and reduces metabolism rate. It is found
in animals such as Bat, Hedgehog, Bear, frog, Rodents etc. From the
options, all three animals hibernate.

85.%% Te] 3cUral, S areal A weitey T refedt (3rugiewedl), # sfAegsd
SaTell Heehl &I 3YANT fhar ST €1 3oTehl 3UANT 41 $& Rl @1 fawg g2
1. 38 waRer A Aafaf@a & ufa 3= afo’ieesar g1

2. 9 Aogsal 3 ugst A @i & dhd B

AR fQU 91T e T JANT W T 3R giAT|

A. Fad 1

B. &had 2

C. 13k 2 gt
D.ad7ar1 ik agr?2

Answer ||| C

Solution ||| Brominated flame retardants used in plastics, textiles,
electrical and electronic equipment comprises of chemical mixtures that
added with certain products to makes them less flammable. These
retardants are persistence in environment and are dangerous to both
humans and animals. It means that both statements 1 and 2 are correct
as Brominated flame retardants are highly resistant to degradation in
environment and are able to accumulate in humans and animals.

86. (st FATT fhafaT fagerd &1 arg o

A. 9IRd H HoqdEIsl HT TATIT FT Jorsllel & T

B. Tadadr [a89ae% &I FIFT H IRUT T & T

C. ¥RT 3R ufhedrar & &g WART A FURT & & fow
D. gdf &atmel & &3t Fr ST e & v

Answer ||| C
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Solution ||| Radcliffe Committee appointed by Lord Mountbatten in 1947
having 4 members from Congress and 4 members from Muslim League
draw boundaries between India and Pakistan just before Independence.
This description shows that option C is correct. Options A, B and D are
incorrect as the aim of Radcliffe Committee was not related to solving
minorities issues, nor involved in outcomes of Independence Bill and
related to any rioting.

87.911 &I Sifethad T TATE & e & fav ReR-a & 3ramar iR F2
GFAT HROT g7

1. Afeat X It 3R S =T 1 AT

2. AfeEl # FIRATO! H FATE H gefer

3. AT F ASDoll Gahsel & STl H B STel

4. AT & M-I F FAA-YAl H HReTST IRHT R 3T FY @I Fr
SEAATS

A feT AT FHe H FANT F FE IR I

A. Faer 1 3R 2
B. %had 2 3R 3
C. %ad 1, 3 3R 4
D. 1,2, 334

Answer ||| C

Solution ||| In Ganges, population of river dolphin declines from 6000 to
1800 as Dolphins of Ganga river are threatened due to construction of
dams, trapping by fisherman, industrial sewage, chemicals and synthetic
fertilizers. This explanation suggests that statements 1, 3 and 4 are
correct, hence option C is correct.

88.fIeif@d & @ o gca/fhad gear3it o Sial & o & gefad fohar
gram?

(1). FAgIAT faEUTTe

(2). FeAET T

A feU aTT FHe 1 TN W FE IR g
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A. Fae 1

B. &hdel 2
C.13R2gmHr
D.aar13iRag?2

Answer ||| C

Solution ||| Evolution result in alteration of heritable traits of biological
species over succeeding production. Continental drift theory based on
large continent Pangaea broke glacial cycle leaving signs of evolution at
both stages which influences evolution. With presence of unique primates
found in Australia and South America, the effect of continental drift on
evolution exits whose final evolution stage Genus Homo took place in last
glacial cycles. With this we see that most appropriate answer is option C
as both statements 1 and 2 are correct.

89.fArfaf@a Wit o faar hifav:
1. S

2. B Adr (RicheAdierd)

3. IgH (TATIISH)

3T A @ g Qar/fehet WM &1 HRA & Seoelel & gl &7

A. Faer 1 3R 2
B. %haa 3
C.1,23R3
D. 1S 8T

Answer ||| B

Solution ||| As per Carter Center for study about eradication of certain
diseases along with CDC, WHO, UNICEF, India result in eradication of
smallpox and polio in year 1979, so it makes option B correct.

90.BRICS & & # AT &2 & T WA & Headl A PArAfaf@a vyl W famm
ffaT:
1. BRIcswmﬁwmﬁaﬁaaﬁﬁﬁzowﬁ@ﬂm
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2. f@roT 30kt BRICS W3l # 3fed # MiAe g3
YT HUAT A § HIT-T/T TET e ?

A. &ad 1

B. ¥ 2

C. 13k 2gmMar
D.adr13iRkagr2

Answer ||| B

Solution ||| BRICS relates to Brazil, Russia, India, China and South Africa,
whose first summit was held in Yekaterinberg, in Russia in 2009. The
Foreign Ministers of BRICS at 21st meeting in New York 2010 agreed for
South Africa to become the member of BRICS. With this description,
statement 1 is incorrect while statement 2 is correct, so option B is
correct.

91.'dCi3H STl ATHD TX&TUT TISA o Hocdl H fAFATaTd H & hlel-
/8 YT LT olg ?

(1). Ig THI JATAT & gEAERAT G2 GART FATIT IAT Th Hod :TIRRT
G5 g

(2). T8 ¥ & faohrE 3R FIAGOT & T TUT TGRS 31eqe7d T S aAlicrdt
eq FeTHAST A & fv &7F TR W 1 AT g

A feT aTT FHe T JANT F FE IR gEAT|

A. Faa 1

B. &had 2

C. 13 2=t
D.Aaar13ikaar2

Answer ||| B

Solution ||| Wetlands International is a world wide Non Governmental
Non-Profit Organisation which aims to save and protect wetlands. It helps
the government bodies to amend and enhance policies through local,
national and international advocacy. Statement 1 is incorrect as Ramsar
Convention is an International modern treaty signed among various
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nations with an idea to conserve natural resources. The description shown
will support statement 2, hence correct option is B.

92.fAmfafEd oAt W faur Hfw:
1 EIFT 2159, et IGEIEG]

(o)

AT Tl HEINUT | Fafrra

3. IRHGT fEE AETHUS

39T JeAl A @ FiT-anq wEr gafad ge?

A. Faa 1

B. ohdel 2 3R 3
C. daa 1 3k 3
D. 1,233

Answer ||| C

Solution ||| Dampa Tiger Reserve is the largest wildlife sanctuary in
Mizoram which was also declared as Tiger Reserve, so statement 1 is
correct. Gumti wildlife sanctuary is in Tripura and not in Sikkim, so
statement 2 is incorrect. Saramati peak is above surrounding peaks which
is on boarder of Nagaland, so statement 3 is correct. Since statements 1
and 3 are correct, so option C is correct.

93.F=rfaf@a st W R Hifaw:

1. ISR

2. ool

3. Tl

39ded A ¥ frae/fhad aeaR o v (Fenf@dhn) A/ee e faar § 2

A. haer 1 3w 2
B. hddl 3
C. %had 2 3R 3
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D.1,23k3

Answer ||| C

Solution ||| Classical Language in India is a status which is inside the
Republic of India given by Government of India. It is seen that at present
there are six classical languages in India such as Tamil, Sanskrit,
Kannada, Telugu, Malayali and Odia, withis option C is correct.

94.8R «fFT 3curear & T defiferar & Fogst 7 rafaf@d Fual | faar
HifaT:

(1). ‘IFRETeT Ffshar T WA &, S f& garr & faegd & goget
AR UT ¢aRT fdegd Sielel il §, Siafeh dR ard gfshar e i

g, oIt g& &I RO 1 3TN AT S ael & fow el 8, fSaer 3mr faega
Selel 9fshaT H 39T fhar ST gl

(2). JREeE Ufhar JcaTad! (AC) URT &7 Sieled Hldl §, Siafe R ardy
gfehar fese emRT (DC T Sieled Ll g

(3). ¥Rd & U ER a9 Gleg@ifaiehr & fov fafaator 3mar g, feqg
geRTRTalecrd WieaIfehl & forw o1&

3T A § BIA-TI/A YA TE 8182

A. Fae 1

B. %had 2 3R 3
C.1,23k3
D. #g =TEr

Answer ||| A

Solution ||| Photovoltaic is a Solar cell technology which generates
electricity by direct conversion from light while Solar Thermal technology
make use of sun rays to produce heat for electricity generation process.
This descriptions show that statement 1 is correct. Statement 2 is not
correct as Photovoltaics technology generate Direct Current while Solar
Thermal technology produces Alternating Current. Statement 3 is invalid
as India is a manufacture for both solar thermal cells and photovoltaic
cells. Since statement 1 is correct hence option A is correct.
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95.'${AUSHIT YATAROT FiAUT & Feadl & HeAai@d & & Hl-AVE HUT TE
g2

A. Ig ‘Sia-fAafaudr W HREAT vd Sy gRade W EgFd A el
fFTE & for o Ghanfafer & &9 & 5 a=ar &

B. Ig $AUSHY ER W YA & Hegl W deilieleh HTHUT Al §

C. I8 OECD & 31l Ueh HTHHIOT §, ST 3Tcafdentad G2l &l 3efch JATaRoT Hr
et & faRise 3eged @ wleafarhr 3R AP &1 HeaRor g F=1aT §

D. g&r (A) 3R (B)

Answer ||| A

Solution ||| Global Environment Facility is biggest public funding project
which works on enhancing global environment. It funded Convention on
Biological Diversity (CBD), United Nations Framework Convention on
Climate Change (UNFCCC), UN Convention to Combat Desertification
(UNCCD), Stockholm Convention on Persistent Organic Pollutants (POPs)
and Minamata Converntion on Mercury. We see that from the description
option A is correct as Global Environment Facility serves as financial
means for above organizations. Options B, C and D are incorrect as Global
Environment Facility doesn’t involve in scientific research on
environmental issues across the globe nor an agency under OEDC which
transfers both technology and fund to underdeveloped countries.

96.9F4S ATl fgeell AEE (BNHS) & Heedl # feATai@d syel W faur
HifT:

(1). Ig YITAROT TG geT HATGT & 7T U9 T 916 gl

(2). TE ThAT-3MTRT 3THUT, RAGT T olleh SRRl & HACTH & Fehid @l
A HT TAH HIT &

(3). TE HH ST & AT yhfd @e-ar=13it va RS 1 3= va Ferer
LT &

3UYFA HUAT A § DlT-AVE FE /e ?

A. Faa 1 33X 3
B. ohddl 2
C. ohael 2 3iR 3
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Answer ||| C

Solution ||| Bombay Natural History Society is a membership organization
working since 1883 started by citizens of Mumbai which focus of
promotional activities related to cause of natural India. The idea behind
this society focus on natural conservation by way of educating people
through scientific research, so it clarifies that the description supports
statements (2) and (3). Statement 1 is incorrect as it was a society
started by group of people and is not under Ministry of Environment and
Forests.

97 frfafEd oAt W faar HifSw:

ST A T AT
1. | T@r-9aoT &1 FAEA F 7T
2. | axeyw fawE #dwa I e
3. | augfia & &g ovdrr Sewe fawre aftatsan | andor fasm A

3UgFd AT H @ HiA-AIA FE GATAT § ?

A. Faer 1 3R 2
B. shadl 3
C.%ae 1, 2 3R 3
D. IS gl

Answer ||| D

Solution ||| Drought Prone Area Programme is started by Ministry of Rural
Development in 1973-74 which aims to relieve impact of droughts that
happens on crops, livestock, humans and productivity of land mainly to
drought proofing areas. Desert Development Programme was started in
1977-78 by Department of Land Resources, Ministry of Rural
Development which mainly coOncerns with hot desert areas of Rajasthan,
Gujarat, Haryana and cold desert areas of Jammu and Kashmir and
Himachal Pradesh. National Watershed Development Project is started by
Ministry of Agriculture. It is aimed at treating ruined lands using less cost
and right technologies. With this we see that statements 1, 2 and 3 are
incorrect, hence option D is correct.
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98.TAFATATET gdidt & JaAr H @ HieT-AT Teh G I FAHAET SaRT 398 H
qUe fohar ST 87

A. 3cHA U9 fARIaR
B. A*IeR Td AT

C. ATCIEIT TF oaiedIa
D. AT Td SfraT

Answer ||| A

Solution ||| Ten Degree Channel is a channel which is approximately 10
km wide which separates Little Andaman and Car Nicobar Islands in Bay
of Bengal.

Little Andaman and Car Nicobar Islands together form the Union Territory
of India as Andaman and Nicobar islands. The Channel runs along East
West orientation and lies on 10 degree line of latitude, North of equator.

99.71¢ IS Hged I fordll IMSHIA &1 Alfecdr Rl & et amar
ST, ar S8 FAT ATFIT §?

A. AT FETET & IRUTAETRT A A qiRieufdes Fawa 7 gRade g
g, 8 T@T & T gl FFATiad &

B. fore ger & 3G 3rafyd g, 38 A & *R & dra fFeidfel & e |
Al fopameheny &1 ey wte & fov f[fyr sfafaafaa s@r afte

C. ATGHIA T T9T TEoAl S8 M-I el dlel HITT HHCRAT T HEhicieh
TAIHT AT GFRIET W AR § 3R safaT 36 3eey H Giepicen fafaLdr S
s gl fohar ST aTfgw

D. 3% ‘e faveaa e &1 &ufa e fr 15 §
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Answer ||| A

Solution ||| Montreux Record appears as data that is recorded for wetland
sites which serves as part of Ramsar List. This record serves as charitable
method which describes particular wetland of international importance
that is practiced along with Ramsar List. Presently, 51 sites are listed in
Montreux record, among which the Indian sites are Keoladeo National
Park Rajasthan, Loktak Lake Manipur etc. This descriptions shows that
among the options listed, option A is correct with the involvement of
hums, changes related to ecological character occurs in wetland.

100.37eAT 3cUlesd & Tdh SITAgIReh 3919 &l, o ‘RO oA 3UhHAIT & &
H ST STaT §, T Aged 82

(1). ¥ A IRFIRE Jeufd B Jeiar 7 g7H <N A 9T Sgd FA Qe &
(2). 38H Tuaa (f3u) S &1 YHTHRY TAET & T &l

(3). 38H TEEAH/3REAS 3dAt FT Wope i gEdAT g gl

(4). FY HT IRFIRS g H Jolell H THH HecRIRETT HT STl TS B
A feT AT FHe H FANT H FE IR I

A. Faer 1 3R 3
B.%dd 1, 2 3R 4
C. Fad 2, 3 3R 4
D. 1,2, 334

Answer ||| B

Solution ||| Sustainable Sugarcane is a method of sugarcane production
which makes use of less seeds and water which mainly relates to
agriculture system. Such initiatives enhance productivity of water, land
and labour further decreases pressure on water resources. The main idea
of such initiative is to increase the nursery with single bud chips,
transplanting of young seedling after grading, releasing adequate
moisture by saving 40% of water usage and further encourages organic
methods of nutrient and plant protection. This descriptions shows that SSI
involves lowering of seed cost as compared to standard methods of
cultivation, practicing of drip irrigation and practicing of intercropping,
which describes that statements 1, 2 and 4 are correct, hence option B is
correct.
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